
 

 

 

 

 

 

 

 

 

 

 

 

 

                                                                            AUGER HOLDER MAIN PLATE 

 

This part of the Auger Holder will come to you as just the holder sec#on. 

 

The moun#ng kits are sold separately per the unit you are moun#ng it on. So you must purchase 2 items,                                               

the main mount as shown in picture and then the moun#ng kit to fit your machine. 

 

The rubber strap will connect with the carriage bolt, washer and nut that comes with it going through the square hole in 

the side of the auger handle mount end. The painted rubber strap hook will install on the other side of the auger handle 

moun#ng posi#on with the 5/16 x 3/4  carriage bolt washer and nylock nut. 

 

The J-bolt will go into the center loca#on and is use to secure the ice auger sha6 down securely, as shown in picture.  It 

can be mounted in either hole. Use the knob nut, flat washer and Loc washer. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Ques#ons or Comments Call 320-964-1616 Monday thru Thursday 7:00 to 4:30 CST                            INST5018 

ITEM PART# QTY. DESCRIPTION

1 5018 1 Auger Holder Unit

2 HDW134 1 Rubber Strap Kit

3 VBP1018-7 1 Painted Strap Hook

4 HDW9473 1 3/8 Knob Nut

5 HDW9103 1 3/8 J-Bolt

6 HDW9029 1 3/8 USS Flat Washer

7 HDW9048 1 3/8 Loc Washer

8 HDW2069 1 5/16 x 3/4 Carriage Bolt

9 HDW9002 1 5/16 Flat Wsher

10 HDW7058 1 5/16 Nylock Nut


